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BASH
Dl 0.050KV ~ 5.000kV.

MHEE BE t (2%iEE+5V )

Sy 1v

SRR 100VA ( 5.000kV/20mA )

S RRERAHUERR 20mA

TIRERGEE 0 ~ 20mA 0=FFIB ™R

22N =i 200uA. 2mA. 20mA

R 3%

BHRAAERE <2% (=HEAPRMERE )

Pl 13~15

mHESEE DDS+I5%

B3 _EFHAE 0.3s ~999.9s 0=EB/E_EFHATIEIR

SRR ] 0.3s ~999.9s 0=3ZE4E M,

FE R PR E 0.3s ~999.9s 0=H3 &= FEATEIX

[P AiE] 0.0s ~999.9s 0= [EJFRAIEIR

EDEE 4

i F R N#&ER, GHER

SEE 0.050kV ~ 6.000kV

MHEE  BE + (2%EE+5V)

DR v

SRR ARHIE 60W ( 6.000kV/10mA )

B RRERAHUERR 10mA

ERifRAfL 2uA. 20uA, 200uA. 2mA. 10mA

BUREE <5% ( 6kV/10mA )

HIEERTIE] <200ms

FIRERATTEIR 10mA

B3 _EFHAE) 0.3s ~999.9s 0=EBJE_EFHATIRIR

Tz R i 0.3s ~999.9s 0=3E4E M,

FE R PR E 0.3s ~999.9s 0=H2 &= FEATEIR

[E)PRE A 0.0s ~ 999.9s 0=[EJf@ATEIX

SRR AT ] 035 ~999.95 0=FERIRERTEIX

EDEE 4

R R N#&ER, GHER

SR 0.050kV ~ 1.000kV
HHEE BE + ( 2%IiEE+5V)
DR v
=ALIRISEE 10GQ
BRATRIZEE 9.999GQ
BN FRIZEE 1MQ
F3 & _EFHAdIE 0.3s ~999.9s O=F3 & _FFHAiEIE
M AIE] 0.35~999.9s 0=iE4EiR
2] 0.0s~999.9s O=AJfRATIEIX
Bahiigtdi ARERF. X
FERATIE] <200ms

PE I 4

0.050kV ~ 5.000kV

SEE

0.050kV ~ 6.000kV

BE + (2%IEE+5V)

DHER v

SREE HEHRE

N S5uA ~ 20mA
NESEE 4 i

0.5uA ~ 10mA
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200uA Y : 0.1uA , 2mA £ : TuA , 20mA £ : 10uA

N\l s2z
B 2uA#% : 0.001uA , 20uA £ : 0.01uA , 200uA £ : 0.1uA , 2mA % : TuA , 10mA
MEREE 22mA Bt (2%+51F) , <2mAJ9t (3%+5EF )
2 T M A AIATER AT AT LASIR 25 .
MiattgEzl GND #&3{ : RETURN imf#Hl75 FLOAT #&=, : RETURN I E4175
=SB 1IMQ ~9999MQ
DHEE 1MQ ~9.999MQ : 0.001MQ , 10MQ ~99.99MQ : 0.01IMQ, 100MQ ~999.9MQ) :
] 0.100kV ~0.200kV : IMQ ~999MQ +5% , 1000MQ ~ 3000MQ +£10%
SBE 0~999.9s
DHER 0.1s

- + (0.1%+50ms )




